1A IR

2 2l #&x
3 BA HLUE
4R BER
5 FIE i
6 LI A
7 AR TR
8 ST FiH
9 S MR
10 XH &
1nER F&%
12 BE 0
13 FIS FIFE
14 KPF X
15 B¥ AfE

16 /DY EafE

17 FriE 4GS
18 B HZEE
19 g K&
20 fRIL FRK
21 %t &

22 F1H #Hh=E
23 [ERR E%
24 ZH T&
25 thE FE
26 JIIK BR
27 & &

28 INR FTY

29 FAEE #

EeZF70 A (GBS8)

(KFES2=7) 15 1 L BRR
12 7
(RS =7) —— 10 [— T E
= 3 10 cx
(EET) e, 10 15 14_?’:*%’ HYE
- 15 -
(T&AZAZT) —— ) 15 p— R M
Ih'J‘y:F—/f‘/@“—x)—uw O—JT'%E% A&k
m5391:73>F)b)—|15 15 15 3—#J: gf]—\ﬁ
- 15 10 s
(N. B. c¥a=7)— 13 15 1 e PR VR
@NS2=7)—2 05 1 [ Bl R
- £ 7S
RAA 2= 7) e 1 . — LB ER
(T&A:):I.:T)—l15 0—**53 il
aaige) — 1 e L 3B
ARSI — 19 4 s | —HE RAE
FB—557$2=7)— " 1 5-—ﬁu.l HBiE
FDKEED‘J:?:DP)L)—Iw 15 19
Teavazr—I e 5 B E
(@vyva=7) 8 oo ,p—E R
s s =
@NS2=7)— 12 S EmE
1 15 o .
(PRBE S 2= ) el ; 15 i BT E KNEEAX
(T&RAS1=T)—— 05 9 [ B2
rmeJ:?:wP)b)—uw 5—%%[5 meE
AP HS2=7)—° 6 2 6 in
O SEES I B 1 e b BELL
(T&AS2=7)—0 15 15 13 9 4 UM BRI
SN +=m &
Y H /1—73/")b)—|15 15 15 15|— = H =
(2 —E k) — 4 L EEF
GYTEYNE 1 e 11 2T
@pmeo—" 15 L 5 C—IEM
FDKEH’):L:?:I‘/F‘)L)—.w 15'_ E*it ;%&
1 0
(BENZ2=7) " o A -

(BINa=7)

(£#£7EBC)
(T&RAD2Z7)
WHa=7avkIL)
(xbiLy357)
(FEfHF1—Evh)
(KEZa=7)
WHa=7avkIL)
(N. B. C¥az=7)
@wysa=7y)
(mfEBEE N
(T&RAD2Z7)

WHY2=7avkL)

(REPa=7)
(BIZa=7)
FyF—/UF—R)
(T&RAY2Z7)
WEY2=7aAvEIL)
(BEH)
(G2 =7)
EB—5572a=7)
(KRE®EPa=7)
(BIZa=7)
HRZ21=7)
(T&RAY2Z7)
WES2=7aAvFIL)
ERRHP2=7)

(BRI

GRS

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58



